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	                    Question 1 :  To estimate the  blood glucose level of Saudi  adults, we measure the blood glucose                

                                        level of 50 Saudi  adults, then in this experiment :


	

	1-               1- The population is :

    [a]  Saudi Arabia  [b] blood glucose level     [c] 50 Saudi Adults       [d] Saudi Adults


	

	2- 
	

	3- 
	

	4-               2- The Variable is:

5-                    [a]  Saudi Arabia  [b] Saudi Adults                [c] 50 Saudi Adults       [d] blood glucose level 
6- 
	

	7- 
	

	8- 
	

	                     3- And the type of the variable is:

                          [a]  Qualitative     [b] Quantitative and discrete    [c] Quantitative and continuous   [d] none of  these

	

	
	

	
	

	9-                4- The sample size is:
                          [a]  50 Saudi Adults    [b] Saudi Adults        [c] Saudi Arabia             [d] blood glucose level
	

	10- 
	

	                   Question 2: 

	

	1-                1-  The sum of the cumulative frequencies for any frequency distribution is equal to :

                          [a]  100                [b] n     [c] 1       [d] none of these

	

	2- 
	

	3- 
	

	4-                2- The mean is a suitable measure for :

                          [a]  Qualitative data only                                [b] Quantitative data only  

    [c] both quantitative and Qualitative              [d] none of these


	

	5- 
	

	6- 
	

	7-                3- If we subtract 8 from each observation of a data set, then the variance of the new data set :

     [a]  will be smaller     [b] will be larger     [c] will not change    [d] none of these


	

	8- 
	

	9- 
	

	10-                4- If we add 5 to each observation of a data set, then the mean of the new data set :

                          [a]  will be smaller     [b] will be larger     [c] will not change    [d] none of these
	

	11- 
	

	12- 
	

	13-                 5- If observations of some variable are measured in centimeters, then the standard deviation is                                          

14-                     measured in :

                          [a]  centimeters     [b] (centimeters
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)

     [c] does not have a unit    [d] none of these

	

	15- 
	

	16-                 6- If a data set has some extreme values then,

17-                      [a]  the mean is affected more than the median     [b] the median is affected more than the mean                                    

18-                      [c] both are not affected                                         [d] both are affected in the same way
19- 
	

	20- 
	

	21-                 7- If we have two groups of data A and B, and the coefficient of variation of group A is greater than               

22-                      the coefficient of variation of group B, then the data of group A :

                           [a]  is less variable than group B                        [b] is more variable than group B  

                           [c] has the same variability as group B              [d] none of these

	

	23- 
	

	8- Write down the probability distribution function of the Binomial distribution :
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	24- 
	

	25-                Question 3: The following is the result of a study on 40 children about how many times they   
                                               have visited a  dental surgery in the last six months:
	


	No. of visits
	Frequency

	0
	5

	1
	9

	2
	10

	3
	8

	4
	7

	5
	1


1- Then a frequency bar chart of this data set is  (label the coordinates carefully):

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


	2-                 2- The mean number of visits is :

                          [a]  2.15    [b] 6.67        [c] 40       [d] it is not possible to calculate the mean for this data set

	

	3- 
	

	4-                3- The variance of the number of visits is:

                          [a]  2.13    [b] 1.50        [c] 1.87    [d] it is not possible to calculate the variance for this data set

	

	5- 
	

	                      4- The percentage of children who visited the doctor at least 4 times in the last six months is:

                           [a]  40%   [b] 82.5%    [c] 20%    [d] 17.5%

	

	
	

	                      5- The median number of visits is:

                           [a]  1         [b] 2            [c] 3         [d] it is not possible to calculate the median for this data set

	

	
	

	
	

	                      6- The  mode of the number of visits is:

                           [a]  1         [b] 2            [c] 3         [d] there is no mode for this data set
	

	

	

	                       Question 4: The ages (in years) of 60 cancer patients were recorded as follows:
	


	Age
	Frequency (fi)
	Mid points of age  intervals (xi)
	fi xi
	fi (xi)2
	(fi xi)2

	20-30
	          10
	               25
	              250
	                 6250
	     6       2500

	30-40
	          20
	              35
	             700
	                 24500
	4               490000

	40-50
	         18
	             45  
	             810
	                 36450
	6              656100

	50-60
	         12
	             55
	              660
	                 36300
	                435600

	TOTAL
	          60
	
	               2420
	                103500          
	                 1143200


From the information summarized in this table we can say that :
	1-                 1- The approximate mean age of those patients is :

                         [a]  605    [b]  2.67        [c]    15                 [d] 40.33    
	

	
	

	1-               2- The approximate variance of the  ages of those patients is :

                        [a]  36       [b] 109.72     [c]    17721.21       [d] 99.89


	

	2- 
	

	3-                3- Comparing the variability of this data with the data in Q3 (the no. of visits to the dental surgery) we         

4-                     we can say that  the data in this question :

                        [a]  is less variable than data in Q3               [b] is more variable than data in Q3  

                        [c] has the same variability as data in Q3     [d] Not possible to compare the variability of the two s
	

	5- 
	

	
	

	                      Question 5 :  The following table shows 100 people classified by income group and the number of                           cigarettes  smoked daily: 
	


	
	No. of cigarettes smoked
	Total

	Income group 
	No Cigarettes
	From one to five
	More than five
	

	         Low
	15
	12
	3
	30

	        Middle
	5
	25
	20
	50

	        Upper
	5
	13
	2
	20

	   Total
	25
	50
	25
	100


The experiment is to select one of these people at random, then:
	1-                 1- The probability that the selected person is a smoker is:
                                [a]  
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            [b] 
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25

         [c]  
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75

           [d] 
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30



	

	2- 
	

	3- 
	

	4-                  2- The probability that the selected person is a non-smoker and belongs to low class income group  is:
                                [a]  
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25

            [b] 
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15

         [c]    
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15

          [d] 
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15



	

	5- 
	

	6- 
	

	7-                  3- The probability that the selected person is a smoker given that he/she belongs to an upper class income              
8-                        group  is:
                                [a]   
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2

             [b] 
[image: image12.wmf]20

13

          [c]    
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13

         [d] 
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	9- 
	

	10- 
	

	11-                  4-   The events  "the selected person is a smoker"  and " selected person belongs to an upper class                   

12-                         income group"  are: 
                                [a]  independent         [b] not independent              [c]    disjoint       [d] none of these

	

	13- 
	

	                       5-  The probability that the selected person is a non-smoker or from middle class income group is :

                                [a]   
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75

               [b] 
[image: image16.wmf]100

70

         [c]    
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       [d] 
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	                     Question 6: Let X denote the number of children per family in a population of 30 families, and  

                                           the following table gives the probability distribution of X :
	


	Number of children (X)
	P(X= x)
	
	

	0
	0.10
	
	

	1
	0.27
	
	

	2
	0.33
	
	

	3
	0.16
	
	

	4
	0.14
	
	

	TOTAL
	1.00
	
	


	1-                 1-  The type of the variable X  is :

                           [a]  Qualitative     [b] Quantitative and discrete    [c] Quantitative and continuous   [d] none of these

	

	2- 
	

	3-                 2- Probability that there is at least one child in the family is:

                           [a]   0.27               [b] 0.1                  [c]    0.37                 [d] 1.00 


	

	4- 
	

	5-                  3-  Probability that there is no children in the family is:

                           [a]   0.27               [b]  1.00               [c]    0.37                 [d]   0.1  
   
	

	6- 
	

	7-                  4-  Probability that there is at most three children in the family is:

                           [a]   0.16               [b] 0.14                [c]    0.86                 [d] 1.00


	

	8- 
	

	9- 
	

	
	

	10-                  5- The expected number (the mean) of the children in the family is :

                           [a]   1.97               [b] 0                      [c]    0.56                [d] 1.00
	


	                      Question 7:   A drug is 70% effective in curing a certain disease. If 4 people with the disease are     

                                            given  the drug, then:
	

	
	

	1-                1- The probability that none of them is cured is :

                              [a]   0.30         [b] 0              [c]    0.7            [d] 0.0081
	

	2- 
	

	3-                2- The probability that at least two of them are cured is :

                              [a]   0.0837     [b] 0.2646     [c]    0.9163       [d] 0.0081


	

	4- 
	

	                        3- The probability that at most two of them are cured is :

                              [a]   0.0837     [b] 0.2646     [c]    0.9163       [d] 0.3483


	

	5- 
	

	6-                4- The expected number (the mean) out of four  to be cured is :

                              [a]   2              [b] 2.8            [c]    3               [d] 4
	

	7- 
	


Q. a) In a study on 144 patients of age 15 or more who were admitted for diabetic kotoacidosis, the mean blood glucose level was 26.2 mmol/l with standard deviation of 3.3 mmol/l. Then

(i) The population is

(ii) The variable is

(iii) A point estimate for the mean

(iv) 90% confidence interval for the mean blood glucose level of such diabetic kotoacidosis patients is

b) In a sample of 625 pregnant women in Riyadh who had no previous history of diabetes, 75 were found to have abnormal glucose levels at the first antenatal visit. Find and interpret a 98% confidence interval for the proportion of pregnant women in the Riyadh area who had no history of diabetes and  had abnormal glucose levels at the first antenatal visit.

Q. I) Let X be distributed as  N(8, 4)  then:

1- P(X > 8) =

[a] 0.0              [b] .25        [c] 0.5  [d] none of these

2- P(X < 4) = 

[a] 0.0              [b] .25        [c] 0.5  [d] none of these

3- P( X > 11.92) =

[a] 0.0              [b] .5        [c] 0.95  [d] none of these

 II) Let X1, X2, …, X10 , be a random sample from a population which is N(2, 40) then:

 1- The random variable 
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 is distributed as:

[a] N(2, 40)    [b] N(0.2, 40)    [c]  N(0.2, 4)     [d] N(2, 4) 

2- P(
[image: image20.wmf]X

< 0) =

[a] 0.0              [b] 0.1587        [c] 0.5             [d] 0.8413
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